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tinU senihcaM dna noitoM   :emaN  
           euD : 
 

woleb ecnetnes eht gnidaer retfa enil eht laitini neht dna dnomaid eht kcehc esaelP . 
 

 eviecer ot rennam dezinagro na ni krow lacitamehtam lla wohs ot deen I taht erawa ma I
vni taht noitseuq a rof tiderc yna .dnik yna fo snoitaluclac sevlo    tuo gnivael / gnittimO eht  
dne eht ta ro melborp eht ni stinu  orez ni tluser osla lliw  tiderc    ______ ◊  

  

 waL tsriF s’notweN stneserper woleb erutcip eht woh nialpxe esaelP
.noitoM fo   ?tlebtaes a raew syawla uoy dluohs yhW  
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waL tsriF s’notweN ot etaler woleb segami eht woh ebircseD  
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ah lliw tahw ward esaelP o tsaf oot gnivird rac a ot nepp  prahs eht n

  .woleb evruc .yralubacov tnatropmi emos htiw nialpxE  

 
?skrow noitartsnomed drib siht woh nialpxe uoy naC   
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.woleb noitcirf fo epyt tcerroc htiw erutcip eht lebal esaelP  

 

 
 

 
 
 
 

  

 

t ebircseD woleB noitcirF fo sevitageN dna sevitisoP eh  

+         - 
 
 
 

 
 
 

 edivorP  .woleb xob eht ni elcihev cimanydorea na ekam esaelP
.scimanydorea tuoba noitamrofni emos  
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 ebircsed esaelP  s’notweN dr3  waL   trohs a ni woleb lausiv eht gnisu

o hpargarap .sdrow 52 tsael ta f  

 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

t gnisu nialpxE ?ereh seilppa s’waL s’notweN fo hcihW  no ecaps eh
.thgir eht  
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 woh ssucsid esaelP notweN dn2 s’   waL am=F( )  erutcip eht ot seilppa

 .woleb  .deeps emas eht ta gnilevart erew selcihev htoB  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 eerht s’notweN fo hcae setartsnomed taht lausiv a edivorp esaelP
swaL  

1 ts  
 
 
 
 
 
 
 
 
 
 
 

.…ti sdnatsrednu robhgien a fi eeS  

2 dn  
 
 
 
 
 
 
 
 
 
 
 

.…ti sdnatsrednu robhgien a fi eeS  

3 dr  

 

 

 

 

 

 

 

 

 

 

 
.…ti sdnatsrednu robhgien a fi eeS  
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i snoitpircsed emos llif esaelP am=F rof woleb elgnairt eht n  

 
 

 ◊ RENNAM DEZINAGRO NA NI KROW RUOY WOHS  !STINU HTIW  
 

og A -  gk 002 fo ssam a htiw trac
 morf setarelecca sregnessap gnidulcni

 dnoces rep sretem 01 fo deeps a ot
c erofeb   .llaw kcirb a otni gnihsar

am=F  
-  tahW t fo ecrof eht saw  ni hsarc sih
n ?snotwe  
 
 
 
 
 
 

 gnihgiew fael A smarg 6   a morf sllaf
 yreve sretem 2 fo etar a ta eert

dnoces  s/m( ²)  eht fo ecrof eht si tahW  .
ht gnittih fael n ni dnuorg e ?snotwe  

?trevnoc ot tegrof t’noD  
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draug a sekirts rac A  eht dna liar
 000,02 saw tcapmi n   .snotwe  

-  woh ,smargolik 0071 dehgiew rac ehT
 ni gnivom ti saw tsaf  rep sretem

dnoces  s/m( ²)? 
 
 
 
 
 

 kcirb sekirts rac A  tcapmi eht dna llaw
n 000,51 saw snotwe  saw rac ehT  .

²s/m 5 ta gnilevart  .  
- woH   ni hgiew ti did hcum smargoliK ? 
 

netop ebircsed esaelP  epip flah eht gnisu ygrene citenik dna lait
.woleb  

 
 

 citenik otni denrut eb nac ygrene laitnetop woh ebircsed esaelP
ygrene  woleb erutcip eht gnisu  .dia lausiv a sa  
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’tahW  ruoy ni noitauqe eht esU ?kcor eht fo ygrene laitnetop eht s
.seluoJ ni si rewsnA .lanruoj   !krow dezinagro ruoy wohS  ? =EP  

 
 

 3 a rof ygrene laitnetop eht etaluclaC
 thgieh a morf gnippord llabteksab gk

sretem 3 fo  m 8.9 fo yticolev a htiw  s / ²    .
-  dna hgm=EP ?seluoJ ni EP eht dniF

krow ruoy wohs esaelp ! 
 
 
 
 

 eht etaluclaC  a rof ygrene laitnetop
 fo thgieh a morf gnippord kcor gk 51

m 8.9 fo yticolev a htiw sretem 001  s / ²    .
- ?seluoJ ni EP eht dniF   wohs esaelP

krow ruoy ! 
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 dah llih eht nwod gnivom repmuj iks A
 dna ,seluoJ 0031 fo ygrenE laitnetoP a

grenE citeniK a .seluoJ 009,3 fo y  
?ygrenE lacinahceM reh si tahW  

!krow ruoy wohs esaelP  
 
 
 
 
 
 
 
 
 
 
 
 

 02 a fo ygrene citenik eht si tahW
 04 ta gnilevart llab nonnac margolik

 ?dnoces rep sretem  
- krow ruoy wohs esaelP ! 
 

?woleb nees eb nac ecrof tahW  
 
 
 
 
 
 
 
 
 
 

 

hW taht rac a fo deeps eht si ta  
?selim 08 evird ot sruoh owt sekat  

 
 
 
 
 
 
 

 fi evird I did raf woH  28 delevart I
?sruoh 4 rof rh/mk  

 
 
 
 
 

 
!KROW RUOY WOHS ESAELP  
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rac a fI   fo yticolev a ta gnilevart

s/m 08 ca htuoS/  a ot detarelec
s/m 001 fo yticolev  5 ni htuoS/
ht si tahw ,sdnoces  srac e

?noitarelecca   ruoy wohs esaelP
!krow  

²s/m tinu esab IS ehT ,rebmemeR  
 
 
 
 
 
 
 
 
 
 
 
 
 

s/m 001 gnilevart rac emas ehT  /
o yticolev a ot setareleced htuoS  f

s/m 04 htuoS/  sdnoces 3 ni  tahW  .
 srac eht si eced  ?noitarel  esaelP

!krow ruoy wohs  
b IS ehT ,rebmemeR ²s/m tinu esa  
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 s’notweN edulcnI ?woleb erutcip eht tuoba em llet uoy nac tahW

noitoM fo swaL  .yrotcejarT dna ygrenE citeniK dna laitnetoP +  )?xepA(  
 
 
 
 
 
 
 

 
 
 

od tahW   lla enihcam s  ?od eht ,wonk t’nod uoy fI n esaelp   eht fo lla tsil
.seitilibissop  .…seton eht ni s’tI ,tniH  
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o eman eht edivorp esaelP .woleb sexob eht ni yellup tcerroc eht f   

.egatnavdA lacinahceM s’yellup hcae edivorp oslA  
 

 
 
  
 

AM = 
 
 

 
 
 
 

AM = 
 

 
 
 
 

AM = 
 
 

 .erom ro metsys yellup ruof a tcurtsnoc dna syawedis egap siht nruT  
uoy si tahW r yellup ’  s egatnavdA lacinahceM ? 
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 sexob eht ni revel fo ssalc tcerroc eht fo eman eht edivorp esaelP
woleb  rra hcae lebaL( )murcluf ro ,daol ,ecrof troffe eht sa wo .  

 

 
 
 
 
 

=AM  
 
 
 
 
 
 
 
 

 
 

 

 
 

 

 

 eht lebal esaelP  eno naht erom eb nac erehT  .woleb senihcam
erauqs rep rewsna   .  eht dnif oslA nevig si noitamrofni erehw AM   no

.egap txen  
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 ruoy wohs esaelP

 krow  
OF  
IF  

 
 
 
 
 
 
 
 

 

 
 krow ruoy wohs esaelP  

OF  
IF  

 

 
 

 
 krow ruoy wohs esaelP   

41.3 =  
 
OF  
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= AM  

 

04 mc  

2 mc  

01  
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1= hctiP  

3 retemaiD  
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s eht fo lla lebal esaelP erutcip eht ni senihcam elpmi s  uoY  .woleb
 rewsna gnorts A   .meht ebircsed uoy sa meht ot sworra ward tsum

.01 naht erom wohs lliw   
 
 
 
 
 
 

 
 
 

 
 



 61  
 ksat elpmis a sekam taht enihcam grebdloG ebuR a tuo hctekS

  .xelpmoc yrev  senihcam elpmis eht fo lla edulcni tsum enihcam ruoY
.denrael evah ew   .tnuoc sliated ruoy dna senihcam eht lebal esaelP  

 

elxA dna leehW◊    egdeW◊       yelluP◊      enalP denilcnI◊    
wercS◊         reveL◊  
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drowssorC tinU senihcaM dna noitoM fo swaL  

 
:ssorcA  :nwoD  

 2 -  a fo noitom eht fo erusaem a si sihT
cudorp eht ot lauqe ydob  ssam sti fo t

yticolev dna  
 4 -  enalp denilcni na si senihcam sihT

 sdloh hcihw elop a dnuora depparw
.slairetam stfil ro rehtegot sgniht  

 6 -  ecnatsid( deeps rof eman eht si sihT
.noitcerid dna )emit /  

 8 -  na yb derots ygrene fo epyt ehT
o tluser a sa tcejbo .noitisop sti f  

 11 -  erom ro owt i enihcam fo epyt sihT
.rehtegot gnikrow senihcam elpmis  

 31 -  eno tsael ta htiw tcejbo nA
 ,egde prahs a ni gnidne edis gnitnals

 1 - ._________ ni derusaem si EK  
 2 - .EK dna EP fo mus eht si ygrene sihT  
 3 - esoppo taht noitcirf fo epyT  eht s

 tsap gnidils secafrus owt fo noitom
rehto hcae  

 5 -  fo tnuoma eht no sdneped sihT
 )d( ecnatsiD eht dna detrexe )F( ecroF

.deilppa si ecroF eht hcihw revo  
 7 -  ta yats ot sdnet tser ta tcejbo nA

._________  
 8 -  sleehw devoorg sesu taht enihcaM

epor a dna   a evom ro rewol ,esiar ot
daol  

 9 -  setats _____________ fo wal tsrif ehT
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4  5  6  
7  

8  9  
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31   41   
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81   

91   02   12   22   32   
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 81  
trapa lairetam stuc hcihw  

 51 -  ffits a sesu taht enihcam fo epyT
ac troppus a no stser taht rab  a dell

sdaol sevom ro stfil hcihw murcluf  
 61 -  htap eht :tcejbo gniylf fo htap ehT

 ecaps hguorht sekam elitcejorp a taht
.selbairav ynam no desab ynam rednu  

 71 -  na neewteb pihsnoitaler ehT
 ,a noitarelecca sti ,m ssam s'tcejbo

__ si F ecrof deilppa eht dna ._______  
 81 -  fo ygrene eht rof eman eht si sihT

noitom  
 91 -  krow seod taht enihcam fo sepyT

.tnemevom eno htiw  
 22 -  nehw deretnuocne ecnatsiser ehT

 htiw tcatnoc ni devom si ydob eno
.rehtona  

 42 -  eht reffo ot degnarra ro dengiseD
 diulf ot tnatsiser tsael wolf  

 62 -  fo tnuoma eht si ___________ enO
1 a evig ot deriuqer ecrof -  na ssam gk

s/s/m 1 fo noitarelecca  
 72 -  ni egnahc fo etar eht si sihT

yticolev  
 

 ro citenik rehtie si ygrene lla taht
laitnetop  

 01 - _ _ _ = EP  
 21 -  tsomerof eht fo enO

 lla fo stsicisyhp dna snaicitamehtam
 emit - .___________ cassI riS  

 41 -  a htiw enihcam fo epyT  gnitnals
 a ot level rewol a gnitcennoc ecafrus

._________ denilcnI  .level rehgih  
 71 -  taht ,LLUP a ro HSUP a  si sihT

 ro noitom eht ni egnahc a sesuac
tcejbo na fo epahs  

 02 -  yats ot sdnet noitom ni tcejbo nA
.__________ ni  

 12 -  od ot ytiliba eht si sihT  esuac,krow
 ni tsol steg dna ,evom ot gnihtemos

.ytilauq  
 32 -  lauqe na si ereht noitca yreve roF

._____________ etisoppo dna  
 52 -  ro detaerc eb tonnac ygrenE

._____________  
 

 
:srewsnA elbissoP  

F ,AM=F ,ygrenE ,deyortseD ,dnuopmoC ,cimanydoreA ,noitareleccA  ,seluoJ ,noitcirF ,ecro
 ,lacinahceM ,reveL ,citeniK n ,notweN ,noitoM ,mutnemoM ,hgm  ,laitnetoP ,enalP ,notwe

 ,egdeW ,yticoleV ,yrotcejarT ,scimanydomrehT ,gnidilS ,elpmiS ,wercS ,tseR ,noitcaeR ,yelluP
kroW  
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